
1

3

5

7

2

4

6

8

4x M6x30

TK120.820     120/060 Adapter

2x M6x12

4x M6

4x J6.4 (M6)

1x

M6 (x4)

M6x30 
(x4)*

M6x12 
(x2)*

J6.4 
(x4)

Supported 
Modules
Desteklenen 
Modüller

Box Contents
Kutu İçeriği

Kayapa, Karanfil Cad Kayapa Sanayi Bölgesi 
No:6, 16315 Nilüfer/Bursa

https://teknokol.com +90 224 443 23 18

teknokol@teknokol.com

TK120.420
TK120.500
TK120.505

TK120.820

TK060 Profile

ENCL.ACC.
E510113

Scan for the installation manual
Kurulum kılavuzu için tarayın

TX30

*20 Nm

*6 Nm

Mounting View
Montaj Görünümü


